<H

= E
<=
gl
or

or
i
9|

ofig

1= BAE 25 9A 1916 o] =it

O

@ 3 ® 24 @ 083 ® 83

@ 3



A 1
R4S 2fhas Uehe o 8niti o] Sato] 7

W =

i rlr boeok



o, 254 off 50 WA 2] 2E



Fotofer.

=
=

A

2
ES

otz 500 ¥1#] =] 2]

]
™

2~
an

d

-

Ul



5.  0.34=ax0.01, 0.291 = »x0.001, 0.631 = cx0.00i € W, a—b+c
o] Zr-& Fstozt.

5 J=X
=%



® 4

@ 2



ol
N

a=3%4 1, (a*)@) =3*o]t}. x2

® 243

@ 9 ® 27 @ 81

® 3



8.

1803 = 2" x 3 x 5* & W, x +y + z A= +1H?

® 10 @ 15 @ 20 @ 25



9. 42+ 4290 — 642t F W), a+ O] G eIt

D L
=¥



10. 23 x4*=128°]11 33 +9x27 =3 4 I, xy 9] & F5toi=h

D R
=%



11.

on = x, R =y ?2] [qL 911X243n+32n
e 227

=



@ 3x ® 4x

Q® 2x

X



13. x=3,y=-2, z=-12 & I, xyzx(-2x%y)3 + (2x3y37)? o] 4127

@® -5 @ -4 ® -1 @ 1 ® 3



14, (-2x%y)* + 4xPy x 2x%y? = ex?y® D W, Ja + ¢ - b| ©] & ko=t

D R
=%



1)* _
15. (1) =2 a2 S WSS x5 9 &

D L
=%



@
a8

=

! \

| =
RN
M__OL‘_NWQM
R oT B ™
B A
Far I
21,_A|01q
ol %o 5 o) A
T = = B gr
A- O N D
Nmo ™o
2o B M T E
ﬂ%l@ﬂa
%quwﬂ%
g S VR
oW NN O
W o BT
1®€$ﬂﬂ
op o o7 BT
T E QW R



17.

2oty x+dy

3

D -

5
3

2

=ax+by d

AT a, b 9

@ -1 ®—é @ 1

O

T a+b ] F?

Wl ot



18. theol A5 AR g2 Fot Msk, AAg gol ou]

golg wafofel,

@ (Bx+Ty)+ (3x+2y)
© (ba —2b) - (3a — 4b)
© -2(2x+y) - (4x-y)

3 7 ) <ﬁ6 3 )
® <5a+2b + 5a+4b

@ (3r-50)+ (r+39)
@ (4x—2y—1)— (3x+6y—4)
® (a—b-2)~(5a+2b+3)
© (2x+3y—-6)+ (—2x+5y+1)
® (4da+2b-4)-5(a+b+3)

® 32x-y)+ (B5x+3y-T7)

@ (2a-3b+5)—-(da—2b+1)

8y—5 a7 8z+9y
-8z—y 5y+1 %(H%b
2-8y+3 | —a—3b-19 = —2a-b+4
10 21

4p+5q a-b 3 P~ 104
-4a-3b-5 gaJer 2a+2b

5 4
1

075b+§ 5z—4y-1 3a+b-1




19. 54 Ax— (x*-3x-2) = 6x* - 3x+ 2 ©] FHst= = o}

@ 5x @ 5x+6 ® 7x+6
@ Tx-6 ® 7x



20.

Al (5x% = 3x+4) + (2 + x - 1) = F

® 2x2-5x+6 @ 5x2-2x+5

@ 7x2-2x+3 ® 7x2-3x+6

® 5x2—4x+2



21. [ el B2 1

=

§ 2 4G Fafola)

xdy—{2x = (By -0 +y) +y} =55 - (Bx+2)




a,b ol th5ko] 7x -2y - {by - (x—5y)} =ax+by d W, a-b
L otof et

o

22. 4%
2

9

C
o -

o

v



a?+2ab  4b% - ab
a b

o] 27

@ 5

| o

® 11



@ 2 ® 5 @ 7 ® 14

D1



25. a=-x+3y, b=2x-y°l1, 3(2a—b) —4(a - b)E x, yol BT
Ao g UetllS o, y o] A4S Estoizt,

D L
=%



26. a:?’x—y,b:m
2 3

ehfiolet

> L
=%

A o, 4ax-3by+1=x, y ol T3t 2]o7




